Y5 - Autumn - Block 1 - Step 7 - Numbers to a million Answers

Question Answer

a) 822,961
1 b) 71,009
c) 303406
a) 104,379
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Many possible answers e.g. they all have a digit total of 24, they are all less than a million;
they are all greater than 90,000 etc.

620,000
3 Eight hundred and fifty thousand
762,000




Y5 - Autumn - Block 1 - Step 7 - Numbers to a million Answers

Question Answer

2,005 200,000

b) Many possible solutions.

Three hundred

Three hundred

Three ones

Three hundred thousand
Thirty thousand

Three thousand
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2915 =2000 +900 +10 + 5

30,316 = 30,000 + 300 + 10 + 6

438390 = 400,000 + 30,000 + 8000 + 300 + 90
769688 = 700,000 + 60,000 + 9000 + 600 + 80 + 8
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10,000 less than Number

10,000 more than

260875 270875

280875

7 669455 679455

689455

385,600 395,600

405,600

795,950 805,950

815950

300,000
300,000
376,480
500,000

Possible solutions are:
127,749
136,659
145569
154,479
163,389




